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Duration: 45 minutes

Please sign and return the paper the next day. Any queries

should be raised at the same time when returning paper.

m
Questions 1 to 3 carry 2 marks each. For each guestion, four options are given.
One of them is the comrect answer. Make your choice (1, 2, 3 or 4) and write

your answer (1, 2, 3 or 4) in the bracket ( ) provided.
{6 marks)

1. The digit 5 of a number is in the hundreds place.
Which one of the following is the number?

(1) 1385
(2) 3851
(3) 5813

(4) 8531







What is 1000 mora than 56897

(1)
(2)
(3)
(4)

There were 4 cards as shown below.

4689
5589
5789

6689

Janice picked 2 of the cards.
The difference between the numbers on the 2 cards was 3000.

(4)

Cand D

Which 2 cards did she pick?
8564 3564 5564 5264
Card A Card B Card C Card D
(1) AandB
" (2) AandC
(3)y BandD




Questions 4 to 8 carry 2 marks each. Show your working clearly and write your
answers in the spaces provided. For questions which require units, give your
answers in the units stated, (10 marks)

4, Write the following in numerals.

-

(a) Nine thousand, seven hundred and twelve

{b) Four thousand, six hundred and four

5. | am a 4-digit even number formed with the digits 2, 4, 5and 8.
| am A number between 2600 and 2900.
What number am 1?

Ans;

6. Look at the number pattern below.

. 4181, 4481, 4781, 5081, 5381

What is the missing number?

Ans:




Jane had 1352 marbles.
Siti had 1515 marbles more than Jane.
How many marbles did Jane and Siti have altogether?

Ans:

Jenny wants to buy lunch from a food court.
She plans to buy a meal that includes 1 main dish, 1 soup and 1 drink.

Menu
Main dish Soup Drink
Nasi lemak Chicken soup Tea
Fried noodles Vegetable soup Coffee

How many different ways can Jenny buy her lunch?

Ans:




For question 9, show your working clearly and write your answers in the spaces
provided. The number of marks available is shown in brackets [ ] at the end of

each question or part-question. (4 marks)

9. There were 3390 people at the Singapore Zoo on Friday.
1900 of them were aduits.

(a) How many children were there at the Singapore Zoo?

{b) There were 685 fewer peopie at the Singapore Zoo on Friday than
Saturday. How many people were there on Saturday?

Ans. (a) [2]

(b) (2l

End of Paper
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e )

Questions 1 to 3 carry 2 marks each. For each question, four options are given.
One of them is the correct answer. Make your choice (1, 2, 3 or 4) and write
your answer (1, 2, 3 or 4) in the bracket ( ) provided.

(6 marks)

1. Multiply 548 by 7.

(1) 3536
(2) 3586
(3) . 3786

(4) 3836




N

Paul bought a toy robot and a deck of cards.
The toy robot cost $29.30 and the deck of cards cost $16.75.
How much did he pay altogether?

(1) $35.05
(2) $36.05
(3) $45.06
(4) $46.05 -

Jane accidentally spilled some ink on a receipt.

XYZ BOOKSTORE
Receipt
 Highlighter $
 Book $
Pencil Case $

Total. - $-2 0.

What was the greatest possible total amount on the receipt?

(1)  $20.05
(2) $20.35
(3) $20.65
(4)  $20.95



Questions 4 to 8 carry 2 marks each. Show your working clearly and write your
answers in the spaces provided. For questions which require units, give your
answers in the units stated. {10 marks)

4, Find the quotient when 648 is divided by 4.

Ans:

5..  Celine baked 492 cupcakes.
© She packed 5 cupcakes into each box.
What is the smallest number of boxas needed for all the cupcakes to be
packed?

Ans:




6. Fandi has 236 blue marbles.
He has 9 times as many red marbles as blue marbles.
He gives 100 red marbles to his best friend.
How many red marbles does he have left?

Ans:

7. Mrs Tan had 230 pencils.
She gave each student 6 pencils and had 2 pencils left.
How many students did Mrs Tan give the pencils to?

Ans:




8.. Look at the number pattern below.

20 3 6 10 70 7 30

10 50 50 10 | 90 400 -~ 100

Find the missing number.

Ans:




clearly and write your answers in the spaces
ckets [ ] atthe end of

(4 marks)

For question 9, show your working
provided. The number of marks available is shown in bra

each question or part-question.

9. A jacket cost $59.90.
A skirt cost $39.50 less than the jacket.
(a) What was the cost of the skirt?

Siti bought the jacket-and the skirt.
{(b) How much did she pay for the two items?

Ans:  (a) [2]
(b) [2]

End of Paper
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